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= 1,296,038 1,194,572 101,466
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= 203,264 185,566 17,698
< 56,335 53,680 2,655
o 1,194,572 1,194,572 0
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= 203,264 185,566 17,698
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=2 41,304 40,758 546
[==4 6,196 6,114 82
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101 @1 21| 51,630 50,948 682
= 41,304 40,758 546
== 6,196 6,114 82
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=2 62,120 44,968 17,152
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SNBSS - MBAY - BES 01l &4 24 pJE-1 {imE=Eh
o /S S0 ALY olldldl 14,598,000 14,598 14,053 545
HRES(=UMET L) 101,466 0 101,466
SHINE(AZSOHAL)(AZTSOHAILSESIA) 101,466 0 101,466
SIESHAIY SE3H ZATA BHE 101,466 0 101,466
802 Etet =D Et 101,466 0 101,466
01 =EX3BEzs 81,173 0 81,173
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o o220l 20,293,000 20,293 0 20,293
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